A2) (Fachbuch S. 268)

U:= 100-V
L := 4-mH

Ry = 30-Q

ZR]. = Rl

" j2mf-C

Z, =j2nfL

Ur1=11"Zr1

Ur2:= I ZR2

Zeigerbild:

Zgq = 30 + 20.106 Q

Zgp = 20 - 28.421jQ

Z = 24.256 — 4.976] Q

| = 3.956 + 0.812j A

I = 2.3 - 1542 A

I, = 1.656 + 2.353j A
UL = 30.995 + 46.247) V
Ugy = 69.005 — 46.247) V

Ug = 66.88 — 47.065] V

|Zg1| = 36.1150

|Zgo| = 347520
|z| = 24.7610

[I| = 4.039A

11| = 2769 A

|1o| = 2878 A
|UL| =55673V
|Uy| = 83.089V

|Uc| = 8178V

|Urg| = 5755V

f := 800-Hz
C:=7-uF

Ry = 20-Q

ZR2 = R2

1 .
Zc =-28421jQ

Z| =20.106j Q

arg(Zgy ) = 33.83 Grad

arg(Zgy) = ~54.865 Grad
arg(Z) = —11.594 Grad

arg(l) = 11.594 Grad

arg(ll) = -33.83 Grad

arg '2) = 54.865 Grad

arg UL) = 56.17 Grad

(

(

arg(Ugy ) = ~33.83 Grad

arg(UC) = —35.135 Grad
(

arg URZ) = 54.865 Grad
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A4) Zpy = 200 Zpo = 300 f=50Hz Zg:=——— Zo=-454728]Q  Zp3:== 60-Q
j-2.mf-C
U:= 100-V
z z
R2 R3
Urp = U Uy = 60V Ugg:= ——U Urg = L.711 + 12.969j V
ZR1+ ZR2 Zc + 2R3

|Urs| = 13.081V  arg(Ugg) = 82.483 Grad

Up = Ugs - Urs Up = 58.289 — 12.969) V |Ua| = 59.714V arg(Up) = ~12.544 Grad



